Combinations fall 2017.notebook September 28, 2017

Good morning!
- Park your phones
- Take out your notecard

- Take out HW & stamp
sheet

Bring colored pencils to class tomorrow.

Sep 28-10:00 AM
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Bulldog Best Name ID: 1

Unit 2 Date Period

Solve each,squaﬁon. anember to check for extraneous solutions.

()f—g)(zﬁﬁ S~
X+ = BXr|

L/\tl) V1I0—-n=n-38

3

14-2x=x-7

o
& g,c\a-av )
A, = X7

5) 2=—n+~N4n-12 6) VI3 -2x—x=-5

7) N—-4—dm—~N-4-m=3 8) V-1-x=2-+2-2«x

Solve each equation.

7

1
9)%:(x+8) 1.4 10) 26°+9=-247
2 2
1) 4=(-5-5)° 12) 22=(p+22)° -3
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Warm up

1. The distance a person can see to the horizon can be found using the function d(h) = J??h, where d(h)

represents the distance in miles and h represents the height the person is above sea level. Create a table and
graph to represent this function. Use a table, graph, and the equation to find the domain and range, intercepts,

end behavior agd intervals where the function is increasing and/or decreasing.

Domain: O , Oo)

Range: EO , OO)

Intercepts (y and x): X\ |n+ s o ) 9 - ’n-\- (s O

End Behavior: x._; w 0 5 -> m

Inc/Dec Intervals: "}?"\T
(o, ) 4

Combinations of Transformations.
When two or more transformations are combined to form a new transformation, the
result is called a composition of transformations, or a sequence of transformations.

1. A plane figure is translated WThe translated figure is then dilated with a
——

scale factor of 4, centered at the origin. Write a rule to describe the transformations.

(X; uD_a (‘-I X IR,'-}U)')

.

(x,)=> (xr3,9-3)

N
A(X+3,4-

AXE 1 4y %3)
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2 .

Rotate AABC 90° counterclockwise. Then reflect it over the
x-axis. What additional transformation will be needed to map

AA”B”C” back to AABC. N\
ot
g2 \\ |
B
_4 i, x D .'.-.f
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Rotate AABC 180° counterclockwise. Then reflect it over the
y-axis. What additional transformation will be needed to map
AA”B”C" back to AABC?

p

/ﬁf\\
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D\
g
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AR

"

TRANSFORMATION:

Reflect x-axis

Rotate AABC 270° counterclockwise. Then reflect it over the

y = x. What additional transformation will be needed to map
AA"B”C” back to AABC.

1""‘
2
B
TASY
5 J{
4 L [C
oz
N VA4 )
Q, 0\-> 5(0,- X—)B( 0\—)5

Reflect AABC over y = x. Then reflect it over the x-axis.
What additional transformation will be needed to map
AA”B"C” back to AABC.

st
A1
N T

430,

c( ) > “ Q- C"(—‘I—,—- 'i);’c
TRANSFORMATION:

Reflect y-axais

SFOf\g‘(g ch qo
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Domain and Range forii:ssff’"“a“z“ ',gma\ C oorol\u nores)

Domain: \n\PU',-s Ver»h(_cS

w sotprs  (1mage Cooro\mo\-}cs>

( Example 1: If the domaip of a functlon atis reflected over the x-axis is (3,4} (2,-1), (-1,2), what is the range?
X

> (%, 3,4),(2 D(—ISB
5>>( «\(,(a’b

Example 2: If the domain Df the Yr nate tran 'ormation x y} (v+1,—x-4)is (1 4] ( -3 2] (<T,-1) avhat is the
ge? 51D, (0,-3 é
) = (r1, -y SO

Example 3: If the range of the coordinate transformation f(x, ¥} = (-2x,-3y +1) is (10,-2), (8,-5), (-2,4), what is the

domain? -— = D - 3%-\-\ - _—’;.
%=-5

vy (4D, (0%

Example 4: Using the graph below, if this transformation was written as a function, identify the domain and range

| D o on (9. \”\OOY\

Aé@; D29 (0%
P TR {0

Gl | Mg
~“3K=-S A
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Example: For each of the following figures, describe and illustrate the rotations and/or reflections that carry the

figure onto itself. / / / / \_/

o O
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Determine the transformation for each.

1 2P ) (~X_, ‘ﬁ) (z.ﬂcc“ 9'0‘;"‘:‘r$:::":'t::*'ggr't

2. 42D)-(2-4 O

3. (42)-(4,-2) HHHHHHHAHAHAH

4. (4,2)-(24) N i

5. 4,2)- (2.4 S 1 R SEEREE

6. (4,2) > (—2.4) HEEEEEF _I__h_

nnnnnnnnnn

7. (4.2) - (—4,—2)

Determine each transformation and then give the transformation that would map A to A”.

8. A(2,3)—A'(3,2) » A"(-3,-2) R

9. A(5,—3) = A'(3,5) = 4"(3,—5)

%Ls 10. A(-2, 1) » A'(-2,1) > 42, 1) Ennananan: amnnannanay

11. A(4,3) — A'(—3,—4) » A"(3.—4) EEEEEEENEI EREES

12. A(—3,4) > A'(3,4) — A"(3,—4)

13. A(2,3) = A’'(3,2) — A"(=2,3) S S

14. A(2,3) - A'(3,2) — A"(-3,2) A ‘___.__L__I__L INNERES

15. A(2,3) > A'(-2,—3) > A"(-3,—-2) EEEEE EENEEEEEEE

\ 16. A(2,3) > A'(3,— 2) > A"(-3,-2) EREEEEAESSEENEEEEEEE

Sep 28-9:37 AM
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Rotate AABC 270° counterclockwise. Then reflect it
over the x-axis. What additional transformation will be
needed to map AA”B”C" back to AABC?

Rotate AABC 180° counterclockwise. Then reflect it over
the X-axis. What additional transformation will be
needed to map AA”B”C" back to AABC?

v v
1l Al"
= i
2 2
B B
R IAIX =4 P AN
LI IREPALS
L 4/ C ~ é, c
4 A i A
T T
A > A A" A A 2> A A" A
B > B ~>B” 2B B > B ->B” B
c > C >c >C c > C > 2>C
TRANSFORMATION: TRANSFORMATION:
Reflect AABC over v = 1. Then reflect it over the x = 1. Reflect AABC over y = —x. Then reflect it over the x-axis.

What additional transformation will be needed to map
AA”B"C” back to AABC?

What additional transformation will be needed to map
AA”B"C” back to AABC?

v y
11 11
. .
/{mmunr :
\ — —
B B
1 T/N4% =4 [P T /N4%
T2 é/ e T /:,
- —T |C - —T [C
JA A
T T
A 2> A >A” A A 2> A 2A” 2A
B > B ->B” 2B B > B a4 B
c 2> C >c” >C c > C >c 2>C
TRANSFORMATION: TRANSFORMATION:

NONE

Sep 28-9:37 AM
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1: If the domain of a function that is reflected over the y-axis is (1,4), (3,-2), (-1,7), what is the range?

2: If the domain of the coordinate transformation f(x, y) = (y + 3,-x +24) is (1,4), (3,-2), (-1,7), what is the
range?

3: If the range of the coordinate transformation f(x, y) = (-3x,-2y +3) is (3,-7), (-12,-9), (6,11), what is the
domain?

4. State the domain and range

Identify the transformation(s) that has 'l'ak?n place.

a. A‘I\YA b. _la A £ 5;\73
-
- = D /
L /
S E - -~
~ -l = - et ~
- ?\ 7X - TN X ) / X
B : rE
NP v v
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